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WORK SHEET NO. 4               Date__________ 

                  Month_________ 

Competency : Problem Solving Ability 

1.   SOLVE: 

a. Cost of one potato bun is Rs. 6. Ram bought 5 buns. He gave Rs 50 to the 

shopkeeper. How much money should he get back? 

 

 

 

 

2.Read the following table and answer the following questions below: 

SL.NO ITEM PRICE 

1 5 Erasers Rs.35 

2 15 Pencils Rs.60 

3 2 Markers Rs.92 

4 7 Staplers Rs.110 

5 4 Sharpener Rs.3 

 

a. 30 erasers cost _________________ 

b. 8 Staplers cost_________________ 

c. 9 sharpeners cost________________ 
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